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Ur-l Ur-l(o-lo) L FB:r Ur-l Ur-I(O-IO)

- a -$1,000 - -
,000 -$100 100 |-$1,000 -$100
-700 -70 100 | -1,000 100
-400 -40 100 | -1,000 100
-200 -20 0 1,100 | -1,000 100
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P(0), =-$1,000—$800(1) + $500(4)(1) + $700(1) = $900

(1.12)* -1

P(12), =-%$1,000—$800(1.12)" 500-
(12), =81, $800(1.12) +{$ 0.12)

}.(1,12)5 +$700(1.12)” =$39

4
P(13), =—$1,000—$800(1.13) " + {$500.%} -(1.13)” +$700(1.13)° = -$12
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P(0)
n*(i=0) 34
n*(=15%) =

Nl CHet = D+E "h e &

[2] Project Balance Diagram
- EXI S0 [IE Y48 "0 A2 S E
— Project Balance DiagramS So0H JIAlI%t
— discounted payback periodT il LIEHS

PB(i), = (1+1)PB(i), , + F, fort=1,2,...,n
PB(i), = F,
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_ PB(20), =-$10,000
PB(20), =-$10,000(1.20) + $1,000 = —$11,000
PB(20), = —$11,000(1.20) + $5,000 = —$8,200
PB(20), =—$8,200(1.20) + $8,000 = —$1,840
PB(20), = —$1,840(1.20) + $6,000 = $3,792
PB(20); = $3,792(1.20) + $3,000 = $7,550

PB(20); = $7,550

Project Balance Diagram

\ 4

-$10,000
PB(20), = $3,792
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PB(20), = -$8,200

PB(20), = -$10,000
PB(20), = -$11,000
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